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(B) WA KR ENI AT S BEDLEEDESm (F) DM EN - T HBE DL EEDEE(m) %iwwiﬁtfégfﬁi‘ﬂﬁ%%%ﬂﬁ@’iﬁﬁ AT TE AR = FRETRE R
(C) BB LB AAM00kN/mi LT O K DI BID 1 DB AEKN/ ni) (G) HEFEB A3 LT DRI D HFED DB AEKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
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RHES w =

A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) F) @) (H)
(1) 138.9 1.0 99.8 1.0 - - 13.1 2.6 138.9 1.0 95.8 1.0 - - 13.1 2.6
(2) 138.9 1.0 99.8 1.0 16.0 3.2 14.9 3.0 138.9 1.0 96.4 1.0 16.0 3.2 14.1 2.8
( 3) 136.8 1.0 99.9 1.0 - - 141 28 136.8 1.0 96.9 1.0 - - 141 2.8
( 4) 145.8 1.0 100.0 1.0 - - 144 2.8 145.8 1.0 99.8 1.0 - - 14.4 2.8
(5) 126.7 1.0 99.1 1.0 16.8 3.3 14.8 29 126.7 1.0 96.9 1.0 16.8 3.3 125 2.5
( 6) - - 99.1 1.0 18.2 3.6 15.1 3.0 - - 99.1 1.0 18.2 3.6 14.7 2.9
7)) 1145 1.0 99.9 1.0 - - 11.6 2.3 1145 1.0 95.8 1.0 - - 11.6 2.3
( 8) - - 91.6 1.0 - - 10.2 20 - - 91.6 1.0 - - 10.2 2.0
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